
MOUNTING INSTRUCTIONS

SLIDING DOOR 
BOARD XL

www.tk-team.com



Board

1 pc

Lower rail

1 pc

Upper track

1 pc

Bracket

2 pcs

Lower roller

2 pcs

Hanger

2 pcs

Bolt M6x10mm

4 pcs

Self drilling screw 4,8x22mm

4 pcs

Washer M8

4 pcs

Low profile nut M6

4 pcs

Square nut M8

4 pcs

Lock washer

M8x16,6mm

4 pcs

Counter sunk bolt

M8x12mm

4 pcs

Optional cover plate

Stop

2 pcs.



NOTE!
IN SOME ASSEMBLIES THE SLIDING DOOR HANGERS 
AND THE STOPPERS ARE NEEDED TO BE SET INSIDE 
THE TRACK BEFORE THE TRACK IS MOUNTED. 



H h h=H-70mm

~55mm

~55mm

NOTE!

LOCK WASHERS BOTH SIDES OF THE 
BRACKET.

TIGHTEN WELL.

THE UPPER DOOR HANGERS ARE 
MEANT TO CARRY MOST OF THE 
BOARD WEIGHT AND THE LOWER 
WHEELS ARE FOR GUIDING.

REMEMBER THE STOPPERS.

31,50

29,50
min. 92mm

115




